MHWHUCTEPCTBO OBPA3OBAHUS 1 HAYKHU POCCUIMCKOMN ®EJIEPALIVMN.
OEJIEPAJIBHOE I'OCY JAPCTBEHHOE BIOJP)KETHOE OBPA30BATEJIBHOE
YUYPEXIEHUE BBICHIET'O ITPOOECCHUOHAJIBHOI'O OBPA3OBAHU A
«CEBEPO-KABKA3CKAA I'OCYJAPCTBEHHAA T'YMAHUTAPHO-TEXHOJIOTMUYECKA A
AKAJIEMU S »

Kadenpa pycckoro u MHOCTpaHHBIX SI3BIKOB
Jducunminna « THOCTPAHHBIUA A3BIK»

Bomnpocsl k 3auery/3x3aMeHy, METOIUYECKUE PEKOMEHAINHU 10 BBIITOJIHEHUIO
KOHTPOJIBHBIX PadoT, TUTepaTypa Ui CTYACHTOB 3a09HOI Gopmbl 00ydeHus 1 Kypc
10 HATPaBJICHUSM:

15.03.02 «TexHomornyeckue MamuHbl 1 000PYIOBAHUEY,

15.03.05 «KOoHCTPYKTOPCKO-TEXHONIOTHYECKOE O0CCTICUCHIIE MAITMHOCTPOUTEITBHBIX
TIPOH3BOJICTB)

23.03.01 «TexHosIOrMs TPAaHCIIOPTHBIX ITPOLIECCOBY»

23.03.03 «DkcruryaTarys TpaHCTIOPTHO-TEXHOJIOTHYCCKUX MAIIMH U KOMITJIEKCOBY



Hepuon | Jlekuun | Ilpakr. | KonTtpoabnas | Koncyabranuu | @opma Bcero
3aHATHS | padoTa KOHTPOJISI | YaCOB

1-i 2 6 5 3auer 16
ceMecTp (3 4.)

MO 155 2 6 5 Sramen | 18
ceMecTp (59)
1-i 2 6 5 3auer 16
ceMecTp (3 4.)

KTO % 2 6 5 Sramen | 18
CEMECTP (54)
1-i 6 7 3auer 17
ceMecTp (44.)

T 2-i 6 7 DK3MeH 20
ceMecTp (7 a.)
1-it 6 6 3ayer 15.5
ceMeCTp (3.54)

™M o 6 6 Sramen | 18
ceMecCTp (6 4.)




MeToauueckue PCKOMEHIAIUHU AJIA CTYACHTOB 3A04YHOI0 OTACJICHUA

[IpumepHBIi anroput™ pabOTHI MO BHIIOIHEHHIO TOMAIIHUX 3aaHUN

JUis yCIIemIHOTO BBIOJHEHHS] JOMAILIHETro 3aJaHusl HEeoOXOauMO eule pas
HNOBTOPUTHh M3YyYEHHBIM B ayauTOpuu MaTepuan. OOpaTuTte BHUMAaHHE HA aKTUBHBIN
CJIOBApPh YpOKa. 3allOMHUTE: 3ay4MBAHUE JICKCUKHA CIIMCKOM — HENPOAYKTUBHBIN BH]L
paboThl. i1 ycrienHoro oBiIaIeHus JIEKCUKOW — paboTaliTe C TEKCTOM.

[loBrOopuTe mpaBuna YTEHWsT W TPAMMATUYECKUMM  MaTepuan Uit
IIPOLYKTUBHOTO YCBOCHHUSI.

Pabotas Haja nepeBo oM TeKCTa, HEOOXOAUMO:

1) nMeTh onpeneNeHHbIN 3anac CIOB aHIJIMICKOTO SA3bIKA;

2) 3HaTh I'PaMMATHKYy AHIJIMMCKOrO S3bIKA; BJIAJETh TEXHHKOW IEpeBoAa U
yMeTb 3 (HEKTHUBHO MOJIb30BATHCA CIOBAPEM.

[Ipu mepeBoAe C aHIIUICKOTO $3bIKa OMHUTE O (PUKCHPOBAHHOM MOPSIKE
CJIOB B IIPEUIOKEHUH.

J10 Havasia MOATOTOBKY IEPECKA3a TEKCTA, BBINOJHUTE YIPAKHEHUS K TEKCTY.
[locnenoBaTenbHbBIN OTBET HA BOIIPOCHI MOKET IIOCIYKUTH IIJIAHOM IIepecKasa

JIisi TIOATOTOBKM IIepecKa3a TEKCTa MOYKHO BOCIIOJIB30BaThCS KIFOUEBBIMHU
CJIOBAaMHU WJIM COCTAaBUTH IUIaH mepeckasa. [IpoyKTUBHBIMU B CMBICIIE MOATOTOBKH
nepeckasa TEKCTa MOTYT ObITh CIEAYIOLIUE IPUEMBL:

1) BbIIMIIMTE W3 TEKCTa CJIOBOCOYETAHUS WM TNPEIJIOKEHUS, KOTOpBIE
IIEpENA0T OCHOBHOE COJEPKaHUE TEKCTA;

2) COCTaBbTE TE3UCHI, MEPEAIONIUE OCHOBHBIC MBICIH( OCHOBHOW CMBICI)
TEKCTa; MoayMaiiTe, Kakas HHPpOpMalHs, HeOOXoAruMas Uil BAlllerO BbICKA3bIBAHMS,
€CTh B TEKCTE, a Kakyl HeoOxonumo Haiitu. Korma Bce 3rtambl MOJATOTOBKU
BBITIOJTHEHBI, IPUCTYIIANTE K COCTABIICHUIO TEMBI.

I'oToBsCH K Iepeckasy, COCTaBbTE IIJIAH MOHOJIOIMYECKOIO BBICKA3BIBAHUS 110
U3YYEHHOMY TEKCTY.

PaGotas Haj TeMON HYXHO HCIIOJIb30BAaTh JOMOJIHUTEIBHYIO JIUTEPATYPY M3
Pa3HBIX UCTOYHUKOB.

IIpyr moaroToBke yCTHOIO BBICKA3bIBaHUA 10 TEME CTYIEHTaM IIPEeIIaraeTcs
CHEAYIOLINM IIJIaH:

a. [IpencraBbTe, UTO BBl XOTUTE CKa3aTh MO KaKJIOMY BOIIPOCY.

b. [Tonbepute K KaxaOMy OTBETY COOTBETCTBYIOIIUE SI3BIKOBBIE CpPEIICTBA
(cyI0Ba/TEpMUHBI, CJIOBOCOYETAHUSI, PEITIOKECHUS ).

C. CxoMOuHUpYyIITE MaTepuan IJid TMepeadyd CBOEro 3ambicia (IIOMHUTE

IIPU 3TOM O TPAMMATUYECKON CTPYKTYpPE aHTIIUICKOTO IPEATIOKEHHS])
d. IToMHUTE O CBA3HOCTH INPEIIOKEHUN U CPELICTBAX CBS3HU.



PexoMeHaiuu 1o BBIIIOTHEHUIO KOHTPOJIBHBIX padoT

B cooTrBercTBUM C y4yeOHBIM IUTAHOM 3a MEPUOJ H3YUYEHHUS JHUCUUILTAHBI
«MexKynbTypHasi MpoQpecCHOHAIbHASI KOMMYHHUKAIUSI HAa HMHOCTPAHHOM SI3BIKE)
CTYJEHT OTAEJICHUS] 3a0YHOTO0 OOYYEHHS JOJDKEH BBINOJIHUTH OJHY HUCHMEHHYIO
KOHTPOJIbHYIO paboTy.

CTyAeHT BBINOJIHSAET OJIHY KOHTPOJIBHYIO pabOTy B CEMECTpP

[TucbMeHHBICE KOHTPOJBHBIE PA0OTHI CIIEAYET BBITIONHITH HA CTAaHIAPTHBIX
muctax (popmara A-4 B medaTHOM BapuaHTe. Ha TUTynIhbHOM JUCTE AOKHBI OBITH
HamMcaHbl: (aMUJus, WHUIHAAIGI, OTACIICHUE, HOMEpP TPYIIBI, a TaKXe HOMEp U
BApUAHT KOHTPOJILHOW paboThl.  BapuaHT omnpenensieTcss B COOTBETCTBUU C
HavaIbHOU OyKBOM (pamMuum:

1-i1 BapuanT — A — U;

2-1i BapuanT: K —V;

3-ii Bapuant: ®© — .

[Ipu BbIONTHEHUH PAOOTHI HEOOXOIHMMO OCTAaBIATH MOJS (cieBa 3cM) s
3aMeudaHuii, OObSICHEHUN U YKa3aHUN PEeICH3EHTA.

BrlnonHeHHbIE KOHTPOJIbHBIE 33/IaHUS HAMPABIISIOTCS B YCTAHOBJICHHBIE CPOKHU
(He mo3ke, yeM 3a 2 Hellelu J0 Hayaja CEeCCHH) JJIs MPOBEPKU U PEIECH3UPOBAHUS.
Paspermaercs 10cpoyHOE BHITIOJIHEHUE KOHTPOJIBHON PaOOTHI.

Ecnu xoHTposibHast paboTa BHITIOJTHEHA HE B COOTBETCTBUM C YKA3aHUSIMU WU
HE MOJIHOCTBIO, OHA BO3BpAIlA€TCs CTYJAEHTY 0€3 MPOBEPKHU.

[To mosydyeHUM MNPOBEPEHHOM PEIEH3EHTOM KOHTPOJBHOW pabOThI CIEayeT
BHUMATEIBHO MPOYMUTATh PELEH3UI0, O3HAKOMUTHCA C 3aMEUYAHUSIMHU PEIICH3CHTa U
MpOaHaIN3UPOBATH OTMEUCHHBIE B pa00OTE OMIMOKHU.

PykoBOJACTBYSICh yKa3aHUSIMU PEIEH3EHTA, CJIEAYyET MMOBTOPUTh MaTepuall, T.€.
MepeunTaTh TEKCThI, MOBTOPUTH TMpPaBHJIa U WCIPABUTH OIIMOKA B TEPEBOJIE U
YIPaKHEHUSIX.

Ecnu penienzeHT motpeOyeT mepenenaTh TOT WIM WHOW pasjell, UCIPABUTh
OIIMOKMA WM BHECTH M3MEHEHUs, HEOOXOJIUMO cJiejaTh 9TO B ATOH ke padoTe (Ha
MOJISIX WJIM Ha 000pOTE MPEBITYIIETO JIUCTA C JIEBOM CTOPOHBI).

K BBITIOJIHEHUIO OYEpPETHOTO KOHTPOJIBHOTO 33JlaHus MOKHO TPHUCTYIHUTH
TOJIBKO TIOCJIE TOr0, KaK pEelEeH3eHTOM OyJeT 3adTeHa MpeallecTBYIOIas
KOHTpPOJIbHAas padoTa.

Ha 3ayeTax HeoOXoAMMO UMETH MpHU ce0e PELEH3UI0 Ha KOHTPOJbHYIO paldoTy.



BAPHUAHT 1

JUJ1 BBIOJTHEHUSI KOHTPOJIbHOU pabOThl HEOOXOAMMO YCBOUTH CIEIYIOIINE
paszensl aHIIMICKOTO S3bIKa:
1. CuHTaKcU4eCcKUi aHaIn3 NpeUIoKeHUH U uX nepeBod. CTpyKTypa IpoCcToro
IIPEIIOKEHHUS.
2. CTpyKTypa CI0KHOTO MPEAIOKEHU. BUabl NpUIaTOUHBIX NPEIJIOKEHUN.
3. Buno-BpemenHsbie (hOpMBI riaroyia B akTHBHOM U ITACCUBHOM 3aJI0TaXx.
4. CoryiacoBaHue BpEMEH.
5. Turbel BONPOCUTENBHBIX NPEII0KEHUN.

Task I. Read the text The ecearly day of the automobile. Translate it in
writing. Underline the predicates and define Tense and Voice

THE EARLY DAYS OF THE AUTOMOBILE

Like most other great human achievements, the motor car is not product of any
single inventor.

One of the earliest attempts to provel a vehicle by mechanical power was
suggested by Isaac Newton. But the first self-propelled vehicle was constructed by
the French military engineer. Cugnot in 1763. He built a steam-driven engine which
had three wheels, carried two passengers and ran at maximum speed of four miles per
hour.

In 1784 the Russian inventor Kulibin built a three-wheeled carriage. In his
vehicle he used for the first time such new elements as brakes, rollers and a gearbox.

In 1825 a stream engine was built in Great Britain. The vehicle carried 18
passengers and covered 8 miles in 45 minutes. However, the progress of motor cars
met with great opposition in Great Britain. Further development of motor car lagged
because of the restriction resulting from legislative acts. The most famous of these
acts was the Red Flag Act of 1865, according to which the speed of the steam-driven
vehicles was limited to 4 miles per hour and a man with a red flag had to walk in
front of it.

In Russia there were cities where motor cars were outlawed altogether. When
the editor of the local newspaper in the city of Uralsk bought a car, the governor
issued these instructions to the police: « When the vehicle appears in the streets, it is
to be stopped and escorted to the police station, where its driver is to be prosecuted».

Task Il. Check if you remember.

Is the motor car a product of a single inventor?
When was the first self-propelled vehicle constructed?



Did the progress of motor cars meet with great opposition?

Task I11. Make up questions to the following sentences:

1. The French military engineer Cugnot constructed the first self propelled
vehicle. (who)

2. In 1825 a steam engine was built in Great Britain. (where)

3. The vehicle carried 18 passengers. (how many)

4. In 1784 the Russian inventor Kulibin built a three wheeled carriage. (when)

Task V. Give the English equivalents:

AOCTUKCHHUC, IIPUBOJUTDL B ABMKCHUC, MCXaHNYCCKaAA CUJia, IIpeajiararb, H&pOBOﬁ
ABHUI'aTCJ]Ib, TOPMO3a, ITIOAIINITHUK, K0p061<a nepeaayd, rnmpeacii, JICrKOBLIC aBTOMOOMJIH
3aIlIPCIICHBI, 9CKOPT, TpCXKOJIGCHLIfI OKHUIIAXK, 3aIIpCIIaTh

Task V. Make up sentences using the following words and word
combinations:

a) 1. transport, of, into, divided, the history is, stages, two
2. 1S, mechanization, step, the development, in, of, the first, necessary the
first, automation
b) 1. do, how, day, lectures, many, have, every usually, you?
2. places,what, in Moscow, the famous, of, interest, are?

VII1. Open the brackets using Participle | or Participle Il. Translate the
sentences.

1. While (to repair) the car the master consulted with owner.
2. The firm is intevested in the purchase of automobile (to produce) by our
plant.

VIII. Full in the blanks with the following words and combinations:

consist, vehicle, component, fail, hazards, provide, should, a well coordinated,
efficient, to play, a vital part, to cause, transportation, maximum safety, engineering
techniques, modern roads, to design, the road sides, to avoid monotony, Construction,
an integral part, material, to add, substances, auxiliary, bridge, flyovers, tunnels.

Driver, Vehicle, and Road

Transportation is a system essentially of
three components: driver, vehicle, and road. If any one of these components :
the whole system would fail, and conditions of hazards would

would be created on the road.




To provide a safe and system, it is
necessary that all of these three components should function in a

manner.

Driver. Studies have shown that 86% of the serios accidents are caused
by drivers.

Vehicle. This component also in
determining safety on roads. An unsafe vehicle is a source of constant danger in a
road system.

Road. To ensure for the transporation
system, it is necessary to plan and desing highways on sound

Modern roads. should possess the following
principal features. They should to be
according to the anticipated volume and speed of the traffic. Bends and gradients

should be well lit. Hedge and tree planting on should
provide a pleasant and interesting outlook to
and boredom.

Road construction. In modern road , there is
much greater recornition of the importance of the subsoil beneath a road. It is
regarded as an of the road. In case of mechanical
stabilization granual or cohesive are
added to the subsoil. In dry climates it is necessary substances helping to
retain sufficient moisture.

Stabilization can be carried out by adding

that harden the soil, and greatly increase its
compressive strength. The constantly increasing volume of modern traffic involves
the construction of numerous structures, such
as : : , and underpasses. It is mainly
these structures that will present problems for the engineers.

IX. Complete the folowing sentences:

Exercise 1. Answer the question

1. The three main components of transportations are...

2. If any one of these components fail...

3. To provide a safe and efficient transportation system it is...

4. The most important component is...

5. To ensure maximum highway safety for the transportation system ...
6. To avoid monotony and boredom on roads hedge and the planting...



BAPUAHT 2

JUJ1 BBIOJTHEHUSI KOHTPOJIbHOU pabOThl HEOOXOAMMO YCBOUTH CIEIYIOIINE
paszensl aHIIMICKOTO SA3bIKA:
1. CuHTaKcU4eCcKUi aHaIn3 NpeUIoKeHUH U uX nepeBod. CTpyKTypa IpoCcToro
IIPEIIOKEHHUS.
2. CTpyKTypa CI0KHOTO MPEAJIOKEHU. BBl MPUIATOUYHBIX MPEITIOKEHHIM.
3. Buno-BpemenHsbie (hOpMBI riaroyia B akTHBHOM U ITACCUBHOM 3aJI0TaXx.
4. CoryiacoBaHue BpEMEH.
5. Turbel BONPOCUTENBHBIX NPEII0KEHUN.

Task I. Read the text Where does the word “automobile” come from?
Translate it in writing. Underline the predicates and define Tense and Voice.

WHERE DOES THE WORD “AUTOMOBILE” COME FROM?

The word automobile is not English. It consists of two words: autos and
mobilis. Autos is a Greek word meaning “self”, mobilis-a Latin word meaning
“movable”. The two words taken together mean “self-moving”. Thus, an automobile
means a self-moving venicle. The synonyms of automobile are: auto, car, auto-car,
moto-car.

The role and importance of an automobile arise from the that it can move along
roads unprovoked with rails. In this respect, it substantially differs from a street car
(tram) and a tailway car (train). In fact, it often replaces street cars, railway cars, and
other agencies of trasportation and communication. In short, the automobile is a
venicle well adapted for ordinary road conditions.

The automobile has long since ceased to be a matter of luxury or sport and has
become a decisive factor in the economic development of many countries. This
accounts for the fact that the word at large uses a great number of automobiles. In
some countries where automobiles are found in millions they are playing a most
important part in the solution of many problems of transport.

The development of automobiles is also accountable toa large extent for the
progress in road maintenance, improvement and construction.

Task 1. Check if you remember:

1. What is the origin of the word automobile?

2. What are the synonyms of automobile?

3. What fact does the role and importance of the automobile arise from?

4. The automobile is a vehicle well adapted for ordinary road conditions, isn't
it?

5. Why does the automobile play an important part in the economic
development in many countries?



Task I11. Make up questions to the following sentences:

1) An automobile meons a self-moving vehicle (what)
2) The Russian inventor Kulibin build a three — wheeled carriage (when)

Task 1V. Give the English equivalents:

COCTOUT, CaMOJIBUXKYILIEECS] TPAHCIOPTHOE CPEACTBO, JIETKOBOM aBTOMOOWIIb,
CpeICTBa TpaHCIOPTa U JOPOKHOE COOOIICHHE, XOPOIIO MPUCIOCAOIUBATHCA,
TPAaHCIIOPTHOE CPEACTBO, peIaronuii  ¢GakTtop, JBUTATh, BO3HUKATH W3, HE
o0ecrieueHbl PeIbLCOBOM JOPOTroi, MoJAepKaHue, 00CITy)KHBAaHUE U CTPOHUTEIHCTBO
JIOpOT, TBUTATENh, SHAUCHHE.

Task V. Make up sentences using the following words and word
combinations:

a) 1. “transport”, to carry, goods, the word, or, means, place people, place,
from
2. future, automobile, to have, the electric, future appeared, a great.
b) 1. your, of, teacher, help, English, profession, to choose did, your, future
you?
2. you, the history, do, hometown, your, of, know?

VI1I. Open the brackets using Participle | or Participle Il. Translate the
sentences.

1. Tomorrow we will test the machine (to construct) by young inventor.
2. We visited one of the largest plants (to produce) cars in our country.

VIII. Full in the blanks with the following words and combinations:

consist, vehicle, component, fail, hazards, provide, should, a well coordinated,
efficient, to play, a vital part, to cause, transportation, maximum safety, engineering
techniques, modern roads, to design, the road sides, to avoid monotony, Construction,
an integral part, material, to add, substances, auxiliary, bridge, flyovers, tunnels.

Driver, Vehicle, and Road

Transportation is a system essentially of
three components: driver, vehicle, and road. If any one of these components :
the whole system would fail, and conditions of hazards would

would be created on the road.

To provide a safe and system, it is
necessary that all of these three components should function in a

manner,




Driver. Studies have shown that 86% of the serios accidents are caused

by drivers.

Vehicle. This component also in
determining safety on roads. An unsafe vehicle is a source of constant danger in a
road system.

Road. To ensure for the transporation

system, it is necessary to plan and desing highways on sound

Modern roads. should possess the following
principal features. They should to be
according to the anticipated volume and speed of the traffic. Bends and gradients

should be well lit. Hedge and tree planting on should
provide a pleasant and interesting outlook to
and boredom.

Road construction. In modern road , there is
much greater recornition of the importance of the subsoil beneath a road. It is
regarded as an of the road. In case of mechanical
stabilization granual or cohesive are
added to the subsoil. In dry climates it is necessary substances helping to
retain sufficient moisture.

Stabilization can be carried out by adding

that harden the soil, and greatly increase its
compressive strength. The constantly increasing volume of modern traffic involves
the construction of numerous structures, such
as : : , and underpasses. It is mainly
these structures that will present problems for the engineers.

IX. Complete the folowing sentences:

Exercise 1. Answer the question

1. The three main components of transportations are...

2. If any one of these components fail...

3. To provide a safe and efficient transportation system it is...

4. The most important component is...

5. To ensure maximum highway safety for the transportation system ...
6. To avoid monotony and boredom on roads hedge and the planting...



BAPHUAHT 3

JUJ1 BBIOJTHEHUSI KOHTPOJIbHOU paboThl HEOOXOIMMO YCBOUTH CIIEYIOIIHE
paszensl aHIIMICKOTO SA3bIKA:
1. CuHTaKcU4eCcKUi aHaIn3 NpeUIoKeHUH U uX nepeBod. CTpyKTypa IpoCcToro
IIPEIIOKEHHUS.
2. CTpyKTypa CI0KHOTO MPEAIOKEHU. BUabl NpUIaTOUHBIX NPEIJIOKEHUN.
3. Bumo-BpemenHsie (hopMBbI raroyia B akTHBHOM U ITACCHBHOM 3aJ10Tax.
4. CoryiacoBaHue BpEMEH.
5. Turbel BONPOCUTENBHBIX NPEII0KEHUN.

Task I. Read the text The Engine. Translate it in writing. Underline the
predicates and define Tense fnd Voice

THE ENGINE

The word engine originally meant any ingenious device, and came from the
Greek word ingenious, clever. Any kind of vehicle must be able to move. The ability
to move demands power. A machine that produces mechanical power or energy is
called an engine or a power plant.

Engines present one of the most interesting groups of problems considered in
the engineering field. One of the main problems is receiving the maximum possible
power or thrust forlfninimum weight. The weight is included in the factor called the
weight/power ratio, which may be defined as the weight in pounds per horse power
output.

Another important problem is that of fuel. Both in the past and today the
designers work at the problem of getting lower specific fuel consumption. Specific
fuel consumption is obtained by dividing the weight of the fuel burned per hour by
the horse power developed.

Another possible problem considered in any engine is its flexibility. Flexibility
is the ability of the engine to run smoothly and perform properly at all speeds and
through all variations of atmospheric conditions.

One more important problem worked at by the designers is the engine
reliability. The engine is to have along life, with maximum of time between overhaul
periods. On some cases the problem of balance is one of the main. Balance has
several possible meanings but the principle factor is freedom from vibration. Besides
any engine must be started easily and carry its full load in a few minutes. There are
gasoline engines, gas turbines, steam engines, jet engines/

Task I1. Check if you remember:
1. What did the word engine originally mean?

2. What machine is called an engine or a power plant?
3. What is one of the main problems engines present?



4. What is the weight/ power ratio?

5. What is flexibility of the engine?

6. Do the designers work at the engine reliability?
7. What engines do you know?

Task I11. Make up questions to the following sentences:

1. The ability to move demands power. (what) the

2. The word engine came is the Greek word (whose)

3. In some cases the problem of balance is one of the main. (when)

4. Both in the past and today the designers work at the problem of getting
lower specific fuel consumption. (do/does)

Task V. Give the English equivalents:

ABHUI'aTClIb, YCTpOfICTBO, JOJDKCH OBITb B COCTOSHUH ABUI'AaTh, CHOCO6HOCTI>,
I[PI32U?IHGp, CHJIOBOH arperatr, COOTHOHWICHHUC, BbIXOAHAA MIOMHOCTb, JOJIZKHBIM
06p2130M, FI/I6KOCTI>, HCOOCTAaTOK, TOIIJIMBO, Hepe60p1<a ABUTaTCIIA.

Task V. Make up sentences using the following words and word
combinations:

a) 1. year, reconstruction, the, last, needed, car, repaired.
2. technology, in, is, the automation, industries, manufacturing, used, car,
widely.
b) 1. an engineer, wants, brother, whose, to become?
2. detective, you, to read, do, like, on stories?

VII1. Open the brackets using Participle | or Participle Il. Translate the
sentences.

1. The mashines (to order) from this factory will arrive in a few days.
2. When (to sign) a contract for the sale of cars it is necessary to give all
information of their goods.

VII1I. Full in the blanks with the following words and combinations:

consist, vehicle, component, fail, hazards, provide, should, a well coordinated,
efficient, to play, a vital part, to cause, transportation, maximum safety, engineering
techniques, modern roads, to design, the road sides, to avoid monotony, Construction,

an integral part, material, to add, substances, auxiliary, bridge, flyovers, tunnels.

Driver, Vehicle, and Road



Transportation is a system essentially of
three components: driver, vehicle, and road. If any one of these components :
the whole system would fail, and conditions of hazards would

would be created on the road.

To provide a safe and system, it is
necessary that all of these three components should function in a

manner.

Driver. Studies have shown that 86% of the serios accidents are caused

by drivers.

Vehicle. This component also in
determining safety on roads. An unsafe vehicle is a source of constant danger in a
road system.

Road. To ensure for the transporation

system, it is necessary to plan and desing highways on sound

Modern roads. | should possess the following
principal features. They should to be
according to the anticipated volume and speed of the traffic. Bends and gradients

should be well lit. Hedge and tree planting on should
provide a pleasant and interesting outlook to
and boredom.

Road construction. In modern road , there is
much greater recornition of the importance of the subsoil beneath a road. It is
regarded as an of the road. In case of mechanical
stabilization granual or cohesive are
added to the subsoil. In dry climates it is necessary substances helping to
retain sufficient moisture.

Stabilization can be carried out by adding

that harden the soil, and greatly increase its
compressive strength. The constantly increasing volume of modern traffic involves
the construction of numerous structures, such
as : : , and underpasses. It is mainly
these structures that will present problems for the engineers.

I X. Complete the folowing sentences:

Exercise 1. Answer the question

1. The three main components of transportations are...

2. If any one of these components fail...

3. To provide a safe and efficient transportation system it is...

4. The most important component is...

5. To ensure maximum highway safety for the transportation system ...
6. To avoid monotony and boredom on roads hedge and the planting...

YueoHo-MeTOoANYeCcKOe U MHMDOPDMALIMOHHOE 00ecIIeYeHre TUCIHUILTITUHBI



OcHOBHAas
uTepaTypa

. Ara0GeksH, W.I1. Aurnuiickuii 1y1st uH>XKeHepoB [ TekcT]:

yue0. mocodbue.- 9-e uzn./ U.I1. Arabeksn, I1.1.
KoBanenko.- P.0/]l.: ®ennkc, 2013.- 317 c.

. Arab6exksn, W.I1. Aurauiickuii s 6akaizaspos. A Course of

English for Bachelor’s Degree Students. Intermediate level
[Tekcr]: yueb. mocobue mis By30B. -7-¢ uza./ U.H.
Ara0exsH.- Pu/]l.: ®enukc, 2012.- 379 c.

. Tomuupiackwi, FO.b. I'pammartuka: COOpHUK yHpaxxHEHHUH

[Tekct]: cOopHUK yrpakHeHuil.- 7-¢ u3a./ FO.b.
INomunprackwii.- CI16.: KAPO, 2012.- 576 c.

. ArabexsH, W.I1. [lenoBoit anrnuiickuii [ Tekct]: yueO.

nocobue/ M.I1. Arabeksn.- uzn. 8-e.- Pu//l.: ®enukc, 2012.-
317 c.

JloroJiHUuTEIbHAS
nmaTepaTypa

. Kauanosa, K.H. I[IpakTnyeckast rpaMMaTHKa aHIJIHICKOTO

sS3bIKa C YIPAKHEHUAMHU U KitouaMu [ TekcT]: yueOHuk/
Kauanosa K.H. -M.: FOHBEC, 2001.- 716 c.

MeToandeckas
nmaTepaTypa

Reading techniques. [TekcT]: yaeOHO-METOINICCKOE
nocobue i 0akajiaBpoB CHEIUATBHOCTH «ABTOMOOUIIN U
aBToMOOMIBbHOE X0351cTBO» / Coct. Kapacosa C.41. -

Uepkecck: Uzn. CeBKaB[ TTA, 2013. - 38 c.

. AHTTUHACKUN s3BIK g OakanaBpoB. [TekcrT]: TEeKCThI IS

aynupoBanusi / Coct. Ay6ekosa I'.I., XaparoxkoBa M.I'. -
Uepkecck: Uzn. CesKaB[ TTA, 2013. - 30 c.




NuTepHer-
pecypcel

1. Ckanaban B.®. AHrIuicKui sS3bIK )11 CTY/ICHTOB
TEXHUYECKUX BY30B [ DJIEKTPOHHBINA pecypc]: OCHOBHOM
Kypc. YuebHoe nocodue/ Ckanadban B.d.— DnekTpoH.
TEKCTOBBIC JaHHBIC.— MuHCK: Brinmiimas mkoia, 2009.—
368 c.— Pexxum gocryma:
http://www.iprbookshop.ru/20053.— 5BC «IPRbooksy, o
apoJIIo

2. AHrnmiickuii sS3bIK [ DIEKTPOHHEIN pecypc]: yueOHo-
MeTroandeckoe mocodue Ne 129/ — DnekTpoH. TEKCTOBBIC
nannuble.— CII0.: Cankrt-IleTepOyprckuii rocyaapCTBEHHbBIN
apXUTEKTYpHO-CTpouTeNbHbIN yHUBEepcuteT, O6C ACB,
2013.— 128 ¢.— Pexum gocryma:
http://www.iprbookshop.ru/18985.— 5BC «IPRbooksy, 1o
MapoJIto

3. AHIIMUACKHI S3bIK [ DIEKTPOHHBIN pecypc]: yueOHo-
MeTroanudeckoe rmocodue Ne 128/ — DneKTpoH. TEKCTOBbBIC
nanubie.— CII6.: Cankt-IleTepOyprckuii rocy1apcTBEHHBIM
apXUTEKTYpHO-CTpouTeNbHbIN yHUBEpcHuTeT, O6C ACB,
2013.— 139 ¢.— Pexxum goctymna:
http://www.iprbookshop.ru/18984.— 3BC «IPRbooksy, o
apoJIto

4. Henman, C.}O. Anrmmiickuii a3b1k. Yacts 1 [Dn€KTpOHHBIN
pecypc]: yuebHnoe nmocodbue/ Heiiman C.}O.— DmexTpoH.
TEKCTOBBIE JaHHbIe.— OMCK: OMCKHI TOCY1apCTBEHHBIN
uHCTUTYT cepBuca, 2013.— 100 c.— Pexxum gocrtyma:
http://www.iprbookshop.ru/18252.— 5BC «IPRbooksy, mo
MapoJIro

[IporpamMmmHuoe
oOecIieueHue

MSWindows 7, 8, 8.1, 10; MSOffice 2003,2007, 2010, 2013, 2016
Anatusupyc ESetNOD 32: JInukso: Koncyisraat [liroc

MarepraibHO-
TEXHUYECKOE
oOecIieucHue

JIunragoHHbIl KAOUHET:

- 3KpaH (HACTEHHBII),

- MYJIbTUMEIUNHBIN ITPOEKTOD,

- IEpCOHANIbHBIE KOMITbIOTEPHI (9 1T),

- BbIX0J1 B IHTEpHET U JIOKAJIbHYIO CETb.




